ALs0O: Those portions of the subject property contained in
bounds, to wit:

BEGINNING at new iron pin on northern side of said proposed
subject property and T & § Brass and Bronze Works, Inc. and
northern side of said proposed road the following netes and
N. 77-55-53 W. 31.72 feet to irom pin, N. 73-59-09 W. 59.55
. 80-28-37 W. 56.50 feet to iron pin, N. 86-47-07 W. 56.70

and S. 77-49-49 w. 137.00 feet to new iron pin; running thence S.

vir 12200:55()

t iil‘

propouscd road
and utility corridor as shoewn on said plat and havin. the tol lowing

road at
running
bounds,
feet toO
feet to
N. 86-47-19 W. 57.24 feet to iron pin, S. 80-11-17 W. 51.11 feet to

metes and

corner of
thence down
to wit:
iron pin,
iron pin,
iron pin,

14-03-22 E.

60.04" to point on southern side of said proposed road; running thence down
southern side of said proposed road the following metes and bounds: N. 77-45 E.

87-08 E. 50.0

135.03 feet to iron pin, N. 80-07 E. 48.6 feet to iron pin,

feet to iron pin, S. 86-30 E. 50.0 feet to iromn pin, S. 80-07 E.

N.

50 feet to iron

pin, S. 73-41 E. 49.5 feet to iron pin; running thence S. 77-03-39 E. 31.3
feet to ironm pin; thence running XN. 19-21-38 E. 60.0 feet to iron pin, point

of beginning.
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